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#include <iostream>
#include <vector>
using namespace std;

int min(int a, int b){
returna>b?a:b;

}

int main(){
vector<int>y;

string str1 ="";

string str2 ="";

int temp = 0; //FARAETEHAL

int len1, len2;

inti=0,j=0,k=0;

intsum = 0;

while(cin >> str1 >> str2){
v.clear();

len1 = str1.length();

len2 = str2.length();
i=len1-1;

j=len2-1;

len1 = max(len1, len2);
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emp =0;

while(i >= 0 && j >= 01

sum = str1[i] - '0" + str2[j] - '0" + temp;

if(sum > 9){

temp = sum / 10; /3

}

//cout << sum << endl;
v.insert(v.begin(), sum % 10);

if(i < 0){
while(j >= 0){

sum = str2[j] - '0' + temp;
temp =0;
if(sum > 9){
temp =sum / 10; //3#{L
}
v.insert(v.begin(), sum % 10);
-
}

}

f(j < OX
while(i >= 0){
sum = str1[i] - '0' + temp;
temp =0;
if(sum > 9){
temp =sum / 10; //3#L
}
v.insert(v.begin(), sum % 10);
-

}

}

if(ttemp > 04

v.insert(v.begin(), temp);

}

for(i = 0; i < v.size(); i++)

cout << VJi];

cout << endl;

}
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